1. Soient A(1 ; 5) et B(3; -1) deux points du plan rapporté a un repere orthonormé.

La pente de la droite (AB) est: YeVa _ 170 - 20 o _3
XB—XA 3-1 2
—2x+4
2.0na: f(x)= vy

Déterminons f'(x).

flx) = % avec u(x) = —2x +4 et v(x)=3x-2
u'(x) = -2 et v'(x) =3
ey — WU -uv' () _ (=2)(3x—2)—(-2x+4)(3)
Donc: f'(x) = v(x)? = (3x—-2)2
VoLt _ “6bxt4t+6x-12
D'ou: f'(x) = e
4x+13

3.0na:g(x) = —

. — 441
Démontrons que g(x) = 4 + w43
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Déterminons g'(x)

g(x)=4+i avec u(x)=x+3

u(x)
u'(x) =1

v 1
u(x)2  (x+3)2

Donc: g'(x) =



